Math 70
Miscellancous Final Exam Review Questions

y Find the domain and range. Write your answers
using interval notation.

Solve the equatioﬁs.
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Solve the systems of linear equations using

matrices and identify the solution for the z variable.

Giive an exact answer.
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- 32) A tree stands straight when it is supported by a 10-foot rope which is tied to the tree and staked to the
ground x feet away from the base of the tree. If the rope is tied to the tree trunk 2x feet above the ground,

ngow far is the stake from the tree? Hint: Pythagorean Theorem.
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